U2D1 MCR3UI Worksheet Radicals (Extra Practice] NO CALCULATORS!

. Simplify the following, always expressing answers in simplest form.

1. VBbcxVabhc 2. 3vV20x 6V5 3. 5x2V6 4. 510 x V&

5. v5b x V5b 6. V2a x V6a 7. 5V3xV3 8. +V20x2V5

9. vax x vax 10. Vab3 x Vac3 11. V6r* xv3rs?  12. v2c3 x (—V/5¢d)

13. 2my7mn x 3VTm 14, (V5)° 15. (4v6)" 16. 3y,/6x3y x 2xy/Bxy*
17. (~2vx)* 18. (xv2a)’ 19. Y& X273 20. ¥IBx 40

21. V486 22.2(4V2+ 1) 23. 2(3V12-5v8) 24. V2(¥3 +3)

25. V8(2v3-5)  26. VB(VZ - V12) 27. VZ2(3VZ +V18)  28. V12(2V5 - 4V7)

29. (VZ+4)(vZ-4) 30. (2v3-3)(2V3+3) 31. (V3+4)(V3+2) 32 (5+3V3)(5+3V3)

33.(2v3 - 1)’ 34, (VZ +V3)’ 3s. (5v6 — 6v5)’ 36. (6v5 +V7)(6v5 - v7)

3 15 24 1 31500 d 4xty
37. J; 8. |= 39. J; 40. ’2; 41, }T 42, J; 43, ’ BT

. Simplify.
1. 2V36+2vV64—5V1Z 2. 475 +8V12 —3va8 3. 74/120 - 3+/52 — 228
4, 824 + 3vV6 — 4454 5. 44243 + 24/363 — 549 6. 745 + 4196 — 6125
7. 4354 — 7128+ 2324 8. 5¥375+2¥192- {24 9. 248 - {243
ANSWERS:
Part A:
1. 4bc2Z 2, 180 3. 10V6 4. 10v10 5. Sh 6. 2ay3
7.1 8 2 9. ax 10. abevVbe 11. 3r3sy2r 12. —c2/10d
13. 42m?Jn 14. 5 15. 96 16.24x%y3 f3y  17. 4x 18. 2ax?
19. 30V5 20, 332 21. 332 22. 8Y2 + 2 23. 12V3-20vZ  24. VB +3V2
25.4/6-10vZ  26. 2vV3-6v2 27. 12 28. 4Y15-8v6 29. —14 30. 3
31, 6¥3+ 11 32,52+ 30v3 33, 13-4v3 34, 5426 35, 330 - 6030 36. 173
V3 V15 V% 3 Vd 2x\¥
37. = 38. = 39. =~ 4.3 45 a = 43. s
Part B:
1. 28—10v/3 2. 2443 3. 14v30 - 6V13 - 4V7 4. 76 5. 58Y3-35
4

6. 56 —-9V5 7. -16¥2+4¥Y3 8. 3133 9. V3
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U 1D} Workaheetr Redicalk Cexjrrq pmd'lce) Soluttone
g5 3(am-5) . & Wz-nz) = | Py®
_alzlkzs) = {E-2%) A7 3 B3+
- e (o0 = {Grmz—-2{2:32 =2 (3F+3(Z
it Silhedte = a3 bz = = (62
2. 2(aiE D) ag (G- L85
;&@(QG’W) = 22— T
- a4z - $6 = 34 2. (23-3)Q5+3)
: = 4(=)
B (5N g st = ad
= 2 + 23+ H2+E - 3.
bS] =45+ A(I51E)+ q@_&) e =z
- g5+ 42T OO- (j%?%"m J
4 (EF+E) = B2+ 20z =H() - 1+
;g{+a{?2+ 5 i = 12173

= 54 2{¢ .
25, (9% —6i5)

3. (piE+D(bis-T1) 37 |3
=6?§(b)—‘o1(30r3’o\+5b(63 = 3655)-%‘? i ) v
= 1506~ (6,0 o+ 1%0 = 120~49 _ 3
= 330~0OEo = 1> N3
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q
5. HRH B + N33 -5EF9 (. 7iEs +NG g,J’,;—',‘
= 4\GIv3 + aNRIx3 -5 (7)

= TNGxs"+ 44 xaq ~(, [ 25%T
= 4(qE)Faliiis) - 35 = 7(3E)++ (D) ~ 6(575)
= RVB +AX 3 —36 -:-a)r+ 56~ 208
= 53 -35 = 5 -9(5

L1 435‘* =128 + A7 B. 5 \z75 +a\/19a - GaF

ary, -7 "lx;.-i-;! ij = 5%/12533 +2 3phx> - /533
- (a%ﬁ>—7Hq/‘+g -5 (5¢5)+ 2 %3’_
-;laQ/ - 282 +43 :.o? 533 r &3 /(—-
= ~ioda + 4V3 = 31F3

. AYhg - 7
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